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SECTION -1
©ug - I

CHILD DEVELOPMENT AND PEDAGOGY
a1t faera W@ forgmeme

There are 30 questions in all in this section.
All questions are compulsory. O
TMEE H FA 30THE | ()
*

T 9 afrad € )

Learning to get along witl

eneficial from a long range point of view

(D}  beneficial or harmful depending on the method used in training.

W 9igeE | TEe Wiy T 9a:

(A) WY Hive & feaed % Hed ¥ sga ARl gt ©

(B) T faen & gifers gia &

() relnrfaes gfF @ AR B

(D) TNER B A THERSE, 98 39 W it &= & & vfoero o faw o ot fafy & s

frn T &
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Five year old Raju is watching a storm from his window. A huge bolt of lightning is
followed by a tremendous thunderclap and Raju jumps at the noise. This happens
several more times. There is a brief lull and another lightning bolt. Raju jumps in
response to belt. Jumping of Raju is an example of learning theory of

(A)  Classical conditioning (B) Operant conditioning

(C) Trial and Error (D) None of these.

ora 9% w1 A9 A faeF F Al qEH & TEar € | faeel 9w € T i STTETS
A T | U9 WR G H ISTA ¢ | GR-9R T weAl gt § | TR 3 vy faetet
FHghdl & | U9 Taael & TS G ISAA § | A9 F ITIAA T IR
g2 |

W) I AT B) AT

(C) W& wd 9& (D) T g, T |

Which of the following is an example of positiv nt ?

()  Redicule by friends of time with friends

(C) Cease nagging of these.

TSN TUE & P # § SH-W I8

) Tl & g I B) T3 % Wy TWE 9ER w5

€ wiTaE e @] S D) FTHFHA

Which of the following statem isjhot appropriate to motivation as a process ?

wards a goal

IO savamasi S HgfE w §
I A 9 F H G Fa1 §
= @ g feff e @ §

Some people say that whenever anger draws upon children, they go to play. Until they
feel better which of the defence mechanisms is represented by this behaviour ?

(A}  Projection (B) Displacement

(C} Reaction formation (D) Sublimation.

FS AN H FeA & T I eTh! H T T4 ¥ A G & fr 99 9 ¥ ) 9 7 e www
Y =T HEgH TR Hd, 3% FaeR ¥ 1 ¥ ¥ w4 vfowen a1 wfgcfem o @ 2

(A} &9 B faragm
() fafswan o (D) SR |
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7.  Adjustment means accommodating oneself to various circumstances in order to satisfy

A) others (B) motives
(C) goals (D) needs.
A | aewd @ o fafie ufifefml o sagen wen € ot e e W e
@w  gE B ¥
C 3TEH (D)  IEvEEAE H
8.  Which of the following behaviours is not a manifestation of emotional disturbance ?
(A) Delinquency (B) Bullylng nature

(C) Truancy (D) Autism.

=1 ¥ 9 S-W yagr WTaATE w97 S Wi e S ¥ ? ()
(A) 9 A9y (B) 1 ST, =l
(C] g (D)

9. A provision for education {for the children with di ies,can be done through

A) Inclusive education ( eaming
(C} Integration e of these.
536 ser! Y frem & fag waum e
(A) TwEfE e g@ ) AEH U H TEH
(C) THEEA g ) T FE A
10. Which of the following is not a(ch stic of mental retardation ?
(A) 1.Q. between 25 to
(B] Learning in a slow unable to do the activities of daily routine
(C) Poor adaptatio nvironment
(D) Pocr Interpers r ions.
= o ® sF-t =1 oo 787 § ?
(a)  Ffs afs %70 % ga B
Ts 3feR St #1 Rl 1 7 S e
WY ATFT d HfeTE
4] & FHASR A |
11. al Curriculum Framework, 2005 under the heading 'quality dimension' gives

portance to
{A)  Physical resources

(B) Qualified and Motivated teachers

(C) Experiences designed for the child in terms of knowledge

(D) Experiences designed for the child and curriculum reform.

TEE SeT=El FR@EI, 2005 F ‘I M’ widw & e=wia afyeh e faan ma
() ifre e

(B) fofer w@ srfuufa sremmel &t

(@ e * faw 9m & v | wifea sval

(D) =Rl % T Wfaa ve T8 eTshe QuR &Y

AT [ P.T.0.
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12. The National Curriculum Framework, 2005 suggests which of the following
examination reforms ?

(A)  Class X examination optional
(B} State level exams to be conducted at different stages of school education

(C) Competitive entrance examinations optional

(D) Al of these.
TEH qed=dt @], 20056 7 Fe ¥ R wlien Tt gurl 1 g@E >

(A)  FE- X F W sw

(B) fammerdt foen = fafim sEensil W T T &1 wien ()
(€) et wo ulenst #1 trees *
(D) T ¥ ¥t )

13. Reducing stress and enhancing success in ionynecessitates
{a) A shift towards shorter examinatio
(Bl Examinations to be conducted atf

(C) Annual and half yearly exa

tages of school education

(D} Setting up of different a org€onducting entrance exams.

TEME F FH HE TH e g I §

14. The purpos

o diagnose learning difficulties and problem areas

(D) to provide feedback on the extent to which we have been successful in imparting
education for a productive life.

i H e ®

(A) TR Wl e T @ HE A UH afadrene el & w9 F dee S

(B) T wToTehi I IUTTICHS 918N &Y STravashal &, STt YA ST

(€ g it wieagal 3 w9 9t &3 FT 9@ A

(D) I SiaA i & o fen frm dim 9% SR w1 o 2, & gfedow wge W
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15. For primary school children, which of the following is better ?

(A) Video simulation (B) Demonstrations
(C} Hands-on-experiences (D) All of these.
wiyfaes foemerdl = wemnl % fog A & 68 e ar & 2
@ oS sgEam (B) wgEH
(©) wWd % g’ faar o o Tgva (D) T ||
16. ‘Toy age’ refers to
(A Early childhood (B) Late chﬂdhooO
(C) Babyhood (D) all of thes
‘el #t Ay w7 o 8

(&) Y& Seaeen @) (B) Eal
() VrerETEEn H
17. Which of the following is not a characteristi ildhood ?
(A) Pre-gang age
{C) Questioning age Play age.
7 ¥ | FA-4 g aeaaen @ ?
(A) <O/ 9T H @I F AT B) FTHE HE FHI T
(C) W& & & reeq (D) T & FEE |
18. In late childhood perj il understand the conversion of which physical
entity(ies} ?
(A) Mass (B) Mass and number
(C) Number (D) Mass, number and area.

IW FEE § Sifrs Fxgell & foru sravas 9 # REdd avg @d § 2
@) (B} =N IR e
(©) (D) =AM, §em 3R aF |

19. g of development is

ogressive series of changes

(B) progressive series of changes as a result of motivation

(C) progressive series of changes as a result of motivation and experience

(D) serles of changes as a result of maturation and experience.
o & aref &

(&) IREdH ®i IO e

(B) AU & FAEET F TA gREdH Y ST G

(€) SIRTR wd e % herawd oA a1t giEel Fit ST SE@en
(D) URUSEdl Td Ve & HaEEd M det gRadql a1 @ |

(RN [ P.T.O.
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20.

21.

22,

23.

8
Which of the following statements is not correct about development ?
(A) Each phase of the development has hazards
(B} Development is not aided by stimulation
(C] Development is affected by cultural changes
(D) Each phase of the development has characteristic behaviour,
frrmsrcddifmddsn-wsmsa R/ ¢ ?
@A) faoe Fit TdGE AgE F A9 T ¥
(B) faw@ SHaE / s1a 29 / =8 e ¥
€) o Wiwpfaw afaddl @ wenfag g & O
(D) foerrw it 9% eyl &Y ot farvard &t €

The temporary change in behaviour due to continuous osur stimuli is called
(A) Habituation (B) *

[C) Temporary learning (D} .

et 3 F e f@ 9m 9 =R 9 € aren FEaTal ®

(A)  FE

(C) e sfm

The teachers should not use which
students ?

ng ways to change the attitudes of

(A)  Coercive persuasion
(B} Repetition of idea or as

(C} Endorsement by a rson

(D] Association of the ‘e e with a good feeling.

Taenfefat &t srfughai ' viie fr= o | fom fafy =1 w=m sreargs =) 781 e TSfeq ?
(A) TE @ fRdl TG %»‘ feaw wsft e

(B) 1 ST TEAE SAER

() F gAY T SEf

(D) wfud =T

Which o ollowing statements regarding achievement motive is true ?

(A ement motive is necessary for survival

he satisfaction of personal potentialities is emphasized, the achievement
otive may be classified as a growth motive

(C) If the stress is on competition among people, the achievement motive can be
considered a social motive

(D) Al of these.

Iyafe sfiis & geu d fa d 4 sh-m s aet & 2

A) Syt Fhre sifea @R & fau srevas €

(B) aft safema spmefl &1 afE Weqyl § 0 Iuafe sifirie = fasme 3 &1 o wadl @

© I ==fHdl & ae wfamfian W o ®, @ Ivwatsy JfReE & wmfss sfirs wer o
e &

(D) 37° 9 |t
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During 6 to 10 years children start taking interest in
(A)  Religion (B) Human body
C) Sex (D)  School.
69 10 9 F sawn ¥ aeF B O O F ¥
@A gdd B) T WR T
(€ ¥ e | D) faemem # |
Which theory believes that human mind is like an iceberg mostly@ and has three
levels of consciousness ?
(A)  Trait theory (B) Type eoryO
(C} Psychoanalytical theory (D) Behaviourist ?heory.
FH fag =% w1 & 5 qre afess & 9% 3 # TU & W 5 sifusive: fod
@l § e 3WH ¥ & A9 '/ E ?
w T fag fagr=
(C) wHAfereTOeHe fagr AT fagr |
Which of the following is more t for keeping the good mental health of
students ?
(A) Provision for curric ctivit

(B) Freedom of expr
{C) Varliety of int

(D) Teacher's role andyschool environment,

e %1 o @ ¥ o et F @ - wle st Teeey § 2

‘Child belonging to weaker section’ means
(A) A child belonging to such parents whose annual income is low
(B) A child belonging to such parents who come under the disadvantaged group

(C} A child belonging to such parents who come under the category of below poverty
line

(D) A child belonging to such parents whose annual income is lower than the
minimum limit specified by the appropriate government.

LTI [ PT.O.
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'Fei 91 % w9 A §
@A) TR fyEel F T | e aifis e wn ¥
B) R fyumEst & e @ o afad = § o §
(C) TUB fuwEenl & e § T e Y@ A AR @ e #

(D) U 3ffuwreehi % areel @ W TSR R M =gam @i &) aifis CRick
CUl i i

The Right to Education Act, 2009 specifies that if the number of @ n admitted for
first class to {ifth class is above two hundred then the pupil-téacher Tatlo required is

(A} thirty (B) for .
(C} forty-five (D) i

foren =1 aifuer efufras, 2009 o A fvar T | HY-5 9 A€ &w f@ ™
Torenfiiat = T < ot | atfus &, oY faemefi-& ST BT

(4 dm
() Yaetg ) 9= |

Which of the following statements isYncosrect about action research ?
(A} 1t is conducted by teag

e pecific problem

hers and’educational professionals

(B) 1t is conducted to_sdl

i e =qaEE @ R @l % g fean e €

(B) o F g & forg fean s @

T foia 9 % ferg a1 dehem &1 %1 38 R o €

(D) W W Y] ki FHeed & gy o+ o) e se=am fman sma §
Which of the following statements is not true about teaching ?

(A} Teaching is modifiable (B) Teaching is formal and informal
(C} Teaching is a science as well as art (D) Teaching is instruction.

1 # @ Fa-w o frem F R § T TET R ?

a) Towo o gur fFa o g (B) faeo it v saaTEn §
(C) foer faam & Ty-wmy wen of # (D)  forermn ergEem
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SECTION - 11
LANGUAGE I
ENGLISH

There are 30 questions in all in this Section.

All questions are compulsory.

Point out the word which ends in a sound [ underlined ) differ, that in other
words : O
(A)  who (B) flew
R
(C) slow (D) o€.
ldentify the word in which the middle soun erlined ) is different from that in
other words :
(A) seen it
(C)] heat (D brief.

beginning ?

(A) sure

Which one of the followingg hag a different sound ( underlined ) at the

(B) cell

(C) sell (D)  psychology.

Point out the word ch Nas a different sound ( underlined ) at the end :
(B graph

(D}  half.

of the following words do the letters ‘th’ have a different sound

(B)  that
(C}  there (D)  thin.
The opposite of ‘similar’ is
(A)  unsimilar (B) insimilar
(C) different (D} near.

The word ‘approve’ is opposite in meaning to
(A)  confirm (B) reject

([C] accept D) return.

Hnam [ P.T.O.
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Pick out the word which is spelt correctly :
(A) sinceerly B) sincierly
(C) sincerly (D) sincerely.

Which of the following words has correct spelling ?

(A) knowlege (B) knowledge
(C) knowlidge (D)  knowlige.
Which one of the following words begins ( underlined ) with a d i@ ound ?
(Al Kkite B)
(C} chemistry (D) V'S
The father said to his daughter, “When will you
In Reported Speech the above sentence will
The father asked his daughter
{A) when she would return ? when would she return ?
(C) when she will return. ) when she would return.
The teacher said to the stude lite in your speech.”
In Reported Speech the nce will be :
The teacher asked t
{a) to be polite in ir speech. (B) that be polite in their speech.
your speech. (D] that be polite in your speech.
d to me, “I am going out for a few days”.
eech the above sentence will be :
r told me that

e was going out for a few days. (B) he 1s going out for a few days.

(C)  he will go out for a few days. (D) we are going out for a few days.

The word ‘'magnificent’ is similar in meaning to

(Al very large (B) grand

(C) huge (D) royal.

The word ‘bliss' has a meaning similar to

(A) happiness (B) anger

(C) darkness (D) innocence.
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Supply an appropriate determiner :
My neighbour is ....................l honest person.
A a B) an
(C) the (D) any.

Which one of the following sentences expresses ‘possibility’ ?

There are dark clouds in the sky. ...........coeeiinnin, .

(A) It will rain (B) It shall rain O
(&) It may rain (D) It mus aino
Pick out the sentence which has the meaning as the ing ¢

No other animal is as brave as the tiger.

(A) The tiger is a brave animal @@

(B] The tiger is as brave as any other

(C} The tiger is the bravest of all ani

(D) No animal, except the tiger, I
Complete the following senteng€ wit correct form of adjective :

Anupam is .........cceeeeeenin. he vhole of the class.
(A) the tallest (B) the taller
(C) the most tall (D) the more tall.

Pick out the sentence$yhich has the same meaning as the following :

s¢he most difficult question.

Pick out the verb from the following :

a) Create (B) Creation
{Cy Creator D) Creativity.
Select the correct verb form :

Sachin has .........c.c.ooenns many records.

({A) brokened (B) broken

(C} broke (D) breakened.

I [ P.T.0.
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Fill in the correct form of the verb :

The train had left beforel ..cooovvvvevnennnn. the station.
(A) reached (B! had reached
(C) was reach (D) was reached.

Complete the following sentence :

Ifwe oo a lottery, we will buy a car.
(A) will win (B) have won O
(C}  won D) win. Q
- Supply an appropriate deterrniﬁer : *
Thave .....c.oeeevinnnni, glass of milk every mornifig.
(A) the (
(C) any me.
Choose the correct order of words :
(A) Do you live where ? B) Do live you where ?
(C) Where do you live ? (D) Where you live do ?

Which of the following ct sentence pattern ?
afbogk. He gave a book her.

(B)
(D) He a book gave her.

(B} dark
(D}  darken.
Which one of the following words is a noun ?

(Al Write B) Wrote
(C) Written : (D)  Writer.

Supply the correct pronoun :

Arun and Lata have a house. ........................ house is quite big.
(A)  Their (B) His
(C) Her (D}  Theirs.
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@S - II

W - 1

HEpT

a3 v wefa ||
WA W FHEA | @

‘BTAY AEA: Tgad: I O
wEifgaue v At ()
A Y B & *
(C) =9g (D) %
‘Tl Ois: g @
WrigaR v 3t
() T KIS
) THY @ (D) &= |
‘Aigd g @ worw & 1 o jha-3TaNg: Afi
(A)  HEA: FgHEN (B) HIEH: Hgh Frew
() b (D) HET: FgEHE FHIEQ |
‘o faeme % I aeEE IEFAaEaE: At
(A) v Tsfa (B) W: foemeam vfa Twfa
() wid Tesfa (D)  9: faemwrd wfa st |
'q% H 9 e ® 1 T A GharER: |
@A) ¥ fav v <erfa B 9 fauu vd g
(€ ¥ faym ¥4 gafd (D) 9 fovem w7 <=1fa
WA e JuT: wafa |
(A) T THR (B) doIEy WH™
(C) dgdife v (D) FHHYRY TR |

(LT | P.T.0.
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37. ‘g sfer W= TmW: #Afa

38.

39.

40.

41.

42.

43.

44. ‘9rmEr:’ o= d@fy: s

A =«

(B)

(D)

(B)

(D)

(B)

(D)

(B)

(D)

(B)

(D)

{B)

(D)

(B)

(D)

A + I

o+ aTF; |

Tty |

I |
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SECTION - III
LANGUAGE II

ENGLISH

There are 30 questions in all in this Section.

All questions are compulsory.

The opposite of the word ‘optimistic’ is :O

(A) pessimistic (B) haopef

(C) ideal (D) du 2
The word ‘innocent’ is opposite in meaning to thaglof

(A) clever ( i t

(C) active

Pick out the word with the correct spéll
(A)  varaity ) varietey
(C) varieti % (D) variety.
Which one of the followi orrect spelling ?
imprescive

(A) impresive

(B)
(@] impressive (D] impressiv.

Point out the hich begins with a different sound ( underlined ) :

A) (Bl  home
(@] (D)  hen.
Co the sentence by putting an appropriate determiner :

You uld always carty ..........ocoeviennnnnnn umbrella with you.
(A) a (B) an
(C) any (D) a few.

Manjit said to Anisha, “Could you please open the window ?”
In the above sentence Manjit is
(A) asking a question )31] giving an instruction

(C) offering advice (D) making a request.
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No other member in the family is as intelligent as Raju is.

The above sentence has the same meaning as

(A)  Raju is intelligenter than any other member in the family

(B) Raju is not intelligent

{C) Raju is more Intelligent than any other member in the family

(D) Other members in the family are not intelligent.

Complete the following sentence with the correct form of the adj@.
IEwWas ..ocoiiv car he had ever driven.

{A) the more comfortable he st corgio able

(C) the comfiortable co tablest.

Choose the sentence which has the same m % following sentence :
Mahim got a higher grade than any o e class.

ther
{A] Mahim got the higher grade th student in the class
(B) Mahim got a high grade tha r student in the class

(C} Mahim got the highest e class
(D) Mahim got the high m
Which one of the follo
(A) Use

(C) Using

rade in the class.

ds is an adjective 7
(B) Useful

(D) Usefulness.

Complete the n’g sentence with the correct option :

(B) fastly

(D) nice.

Which one of the following has a correct sentence pattern ?

(a) She put all the books on the table. (B) She all the books on the table put.
(C}  She put on the table all the books. (D) She on the table put all the books.

Choose the correct pronoun to complete the following :

This book is ..vvvvvvvievienn e , and that one is mine.
(A} our book (B) your
(C) yours (D)  yours book.



75. Choose the correct word order :

(A) Why she did leave so early ? (B) Why did she leave so early ?

(C) Why did so early she leave ? {D) Why so early did she leave ?
76. Which one of the following words ends in a different sound ( underlined ) ?

Ay city (B) sky

i) by (D)  try.
77. ldentify the word which has a different sound ( underlined ) i d

A foot (B) should

({Cy wood (D) food’. 2

78. In which one of the following words does t ‘i*have a different sound

( underlined ) ?
(A) finish

€y it

79. Pick out the word in which the let ve a different sound ( underlined ) :
{A) check chess
() chemical 6 chairman.
80. Which letter of the word% not spoken ?
A c o
QI

(C) m

81. Mohan said to ,Can I borrow your book for a day "

e could borrow her book for a day
(B)
{C) that could he borrow her book for a day

they could borrow her book for a day

(D) if that he could borrow her book for a day.
82. She said to her brother, “Do not buy mangoes.”
In Reported Speech the above sentence will be
She asked her brother
(A)  to not buy mangoes (B) not to buy mangoes

(C} do not buy mangoes (D) do not to buy mangoes.
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The students said, “We want to learn a foreign language.”
In Reported Speech the above sentence will be
The students said that

(A)  they want to learn a foreign language

(Bl they wanted to learn a foreign language
(C) we want to learn a foreign language

(D) we wanted to learn a foreign language.
The word ‘courteous’ is similar in meaning to
(A} related to a court (B}
(C) polite (D}
Which word has a meaning similar to ‘signific
{A)  prominent

(C) efficient

Pick out the corTect sentence :

(A)  There are shop near my ) There is shops near my house.

(C) There are a shop near (D)  There is a shop near my house.

Select the correct form

(A) knows (B) know

(D) known.

When t NE rang, We .....ooevivininiiinnn. television.
(B} are watching

(D)  were watching.
If Radhika had received an invitation, she would have gone to the party.

The above sentence tells us that Radhika

(A}  did not receive the invitation (B) had received the invitation

(C) is waiting for the invitation (Di did not want to go to the party.
Fill in the appropriate determiner :

The ring is made of ..................... gold.

(A)  the (B) a

{CQ) x ( no determiner ) (D) any.
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(Al  o2Bes (B) 21ul
(C) Wwdie (D]  eaRm. O

As 5 o ilsani 2 s2a 2je2 olama [Qaed of 58 8 7
@)  oma (B) aﬂa& IS
oL

O eag (D) d.
Rrepdl elBapii wlaisal Hidl gI2L dtdicl A0dd ef @
!

(A)  dfa

(C) &Sl % H2{321,

21mendl 242512 euRd HIZ A1dY ot2ll @

(A) 6 (B) o [dtuet ddet 8.
(D)

2 [Atuel 2l 6.

(C) o R A6 8 21 ([Qene ydazen 8.
s >l 2214 s2distl g it 52di Ydl u2 12AlY S2dlsf gt uie 52 8. Vil Hie d Slotell

uMilda & ?

(A)  uwidu2i (B) Uejotd

(©) a¥ (D)  maAL.

viells A ol yn 8. uRl A Moticll YPil 8. vizeud 24 ettt 22121 B. cdl eA5ell el
212lail i

( (B) [Raz

(C) [uat (D} =51

vilEulell el B ...

(A)  ux eudllRs [Ea2u (B) vig g adl

(C) =2ldwdl el ga (D) e Aal,

“oidoll 2208 otoitddial o113 o Hcicell d 8.7 11 [Quot uell 2 ardl esi2t ?
(A)  odell didaR AJell BHiee ol B (B)  o1dell g3leaii 2211all icie Mol B

(€} aell el o1da) 221ldol Hieie & B (D)  oidall 218e0l Micie ot2ll Adi.

(NHETE ] 101
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Section - IV / &@Us - IV
MATHEMATICS / Tifuta

There are 30 questions in all in this section.
All questions are compulsory.

TG H FA 3O T |

weft we aAfand #
On subtracting 8 metric tonne { mt ) 50 kilogram from 12 n@omne 8 quintals we
get .
(A) 3 mt 8 quintal (B) t 7 quintal 50 kg
(C) 4 mt 8 quintal 50 kg D t uintal 50 gm.
12 Hifg =9 gfaa=er § @ 8 HifesF 2 50 W B @
() 3dHifed za g feea 4 Tifge 27 7 fqded 50 fae o
() 4tifgs =7 8faea 50 fFan ) 3 Hifgw 27 8 fFEew 50 fFat um |
A tank has 400 litre water. If A2 Ii ml water is used from it and the remaining
water is filled in 25 cans o capacity, then what is the capacity of each can ?
(a) 121t 500 ml (B) 13 1t 500 ml
(C) 151t 500 ml (D) 14 It 500 ml.
TF <t ° 400 | 398 § 12 7t 500 fuefielier ot =9 ¥ o9 o 9g 919 It &)

TIE 5HG % 2 | T i Ay fe= 3 g
(B) 13t 500 fret
(D) 147 500 =T |

Wh the following statements is incorrect for the time taken by big hand of a
clockgto reach from one digit to exactly next digit ?

(A) 5 min (B) 300 sec
(C) %2 hour (D) one hour.

uE ¥ 91 gE F Tt 3 § SIF o7 ofF 9% Tgu § o ot 999 & oy e A @ s
IEEE ?

() 5fue B) 300WF=S

@ 5 D) &Y |

IMIHTRETH | PT.0.
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94. The length and breadth of a rectangular field is 60 m and 40 m respectively. If on the

outer of its four sides the grass of 5 metre width is planted, then the area of grass

planted field is

A) 1100 m (B) 525 sq.m
(C) 1100 sq.m (D) 525 m.

T AFAERR AgH # e 60 W qui AgR 40 T € |3ﬂ%ﬂ1ﬁ@){ﬁwsﬁﬂh{r§ﬁ

Y TE W @ U S Gl SiTE S &R g *
(4 1100 (B %cn
(C) 11003 =t 54 |
95. A rectangular photo frame X is of. th and 70 cm width and a square frame Y
is of side 80 cm. Then which @f wing is correct ?
()  Perimeter of fram 00 sq.cm
(B)] Perimeter of s 6400 sq.cm

(C) Perimet oth X and Y frames s same and is equal to 320 sq.cm.

(D) r of both X and Y frames is equal to 320 cm.

fog & W X+ T 90 Y aun we® 709 € R UF FER ¥H Y HE o
gOdN g M A A FH-WHFF TA R ?
(A}  HW X & IR 6300 WA g
(B) ¥ Y = 9fAM 6400 = | g
(€) < WHl X a9 Y & 9 SOe) T 320 9 AH g

(D) o WE X 99 Y& 9ET 320 9 % e g |
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96. Which of the following is true for a triangle ?
(A)  All the angles are always acute angle
(B) One angle is always a right angle
(C) One angle is always an obtuse angle

(D) One angle is always an acute angle.

TR s fufmddasH-meRsat ?
(A) HHE H WG = HF E T F A

(C) T F0 Ha 37y Hior gel ¥ = HI0 g ¥
97. How many triangles are there in the follom@

@ 5 B 4
2

) 3 (D) 6.

fre s e ¥ 2

(A) 5 (B) 4

© 3 D) 6.

L-1

[ P.T.O.
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98. The sum of all interior angles of a square is

99.

(A} 180°

© 270°

T % I/ SN F A g
(A) 180°

@ 270°

Which of the following statements is cg

(A} A square is a particular ec

(B) Arectangle is a pa@ype of square

{C) Every ray is a ling segment

L 2
(D) Straig le"is of 90°.
= | FREEE ?

@A) T TF G99 YER % I Ea B ?
(B) 394 U fasiy woR &1 o1 g &
C) Y% faro T Ergve gt

(D) &S / TLA IO F 7Y 90° BT & |

101 |

{B)

(D)

(B)

(D]

gle

360°

none of these,
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One has to run 250 metres to take one round of a ground. A girl has run
75000 centimetres, Then how many rounds has she taken and how many rounds

more will she have to take in order to complete a run of 3 kilometres ?

0
A
et ¥gM &1 Uh AR wH ¥ 250 W S usa ¥ ) =HINZ5000 §H €5 AT & 1A 9%

meﬁﬁzs%ﬁaﬁﬂg@mﬁ%@ TFHL A B ?
a 3.9 & 30, 90
(D) 3

0, 9.

A 3,9 (B) 30, 9

(C) 3,90 (D) 30, 9

(C) 3,90

A person took some a bank at the rate of 15% annual interest. If he pays

back Rs. 7,250 after ears then what is the amount of loan ?

(B) Rs. 4,500

(D) Rs. 5,500.

T E A 9F ¥ B I 15% a6 a9 &1 L § IUR faar | 3R o 9 918 9% 7,250 To

Tfae LA &, @ I53 e o Sur foam o ?
(A) 5,000 %o (B} 4.500 %0

{C) 6,500%0 (D) 5,500 %e |

A [ PT.O.
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102. What is the interest on Rs. 500 for six months with a rate of interest 8% calculated six

103. A person X sells an article of Rs. 100 with a

LT 101 |

monthly ?
(A) Rs. 20 (B) Rs. 30
(C) Rs. 48 (D) Rs. 40.

50O To H 6 HEM & 8% F1 THE! &L Q TS g O

Aa)  20%o (B) 30 %o

(C) 48%o0 (D)

to the person Y. Y sells it at a
gain of 10% to another person Z What is which Y sold the article to Z?
{A} Rs. 100 ) Rs. 99

() Rs. 110 (D) Rs. 101.

%I FHAAE Y MATIME | Y, 58 95 ® 10%
1 frg o0 W awg Z &1 s ?

(B) 99 %o
(D) 101%o |
plane in the following ?
(B) Glass
(C) Bal (D)  Cylinder.
o Tegeli § | -6 "aRa ¥ 2
@ FTE B firemw
C) g D) A |




73 L1

105. Which of the following statements is not true ?
(A)  The figure formed by two rays passing through a point is called an angle
(B) A closed figure formed by three line segments is called a triangle
(C) A figure formed by three lines is called a triangle

(D) In a rectangle the length of opposite sides is same and gle is a right

angle.

e § A S ad w0 ¥ 2 & .

(a) & o fag | oA ot 3§ feon | w Fed §

B foel 9 wrave ¥ il g 9% ssfa ¥

© el 97 Tell 8 fad opfa #

(D} & & SHA-|HA H TR & T T&SF R0 FHHIW B ¥ |

106. What is the highest com CF ) of the numbers 425 and 476 ?

A 4 B 5
(D) 5l.

e T (o o W) B

B 5
(D) 5l.

107. What's the least common multiple ( LCM ) of the numbers 90, 60, 75 and 35 ?
A 2700 (B) 6300
&y 4250 (D) 2750.
Femdl 90, 60, 757U 35 H YA AXYewd ( To To Yo ) ¥
A 2700 (B) 6300

(C} 4250 (D) 2750.

(LRI [ PT.O.
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108. Five persons paint a house in 3 days when they work 8 hours everyday. Then if one

109.

110.

person works 4 hours everyday, how much time ( day ) will he take to complete the

same work ?

A 30 B) ?
6 3
© 2 o .
TH TFM & YA 5 Fh, 8% U5 & &b 3fg A wd & At 1 21 A FH F&F
39 % F fohaq feg o w0 ?
@) 30 | 12 ¢
6
(C) 5 (D 1

on are 200. If the average of marks

The marks obtained in 4 subjects in

Y,

obtained in 3 subjects is 48, then marks are obtained in fourth subject ?

A 50 (B) 144
(C) 152 (D) 56.
T e H A fawE) 200 % | 3fg o fawdi & wm o=l & ofta@ 483 @ =9
faea & wm ofe & .
¢ .
() (B) 144
) (D) 56.
Ap sold a cycle at Rs, 935 with a gain of 10% then at how much amount did he
purchase the cycle ?
{A) Rs. 945 (B) Rs. 850
{C) Rs. 925 (D) Rs. 1,085.

T At 3 T dEfde 935%0 § 10% &4 | J=t 9 36 98 dr3feha fohad To & TS oF ?
(A] 945%o (B) 8507%0

(C) 925%0 (D) 1,085 %o |



111.

112.
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The value of 15 coins of 25 paise each is equal to

I. 3 coins of one rupee + 1 coin of 50 paise + 1 coin of 25 paise
II. 2 coins of one rupee + 3 coins of 50 paise + 1 coin of 25 paise

III. 3 coins of one rupee + 3 coins of 25 paise

IV. 3 coins of one rupee + 2 coins of 25 paise.
In the above four, the wrong statement is QO
@ I B I & .
€ 1 (D) @
25 43 ¥ 15 fawl F1 7 TR ¥ @
1. THE ¥ 3 fEr + 500 25 90 &1 T faerh
II. &% & 28 + 50 + 25 99 =1 wen o
1. W v F 3fass 3 fasr
IV. THT&F 3 % 2 faes
IE SR H § TR ®

A) ¢ B I
(0 (D) 1V.

. 2 5 1 3 . . .
The ment of the fractions g . g8 3+ g I ascending order is

w2133
fﬂ?ﬁ%.%.%.%maﬁﬁm%
MR ® 3342

(T [ P.T.O.



L-1 76

113. If the cost of 5 pencils is 3% rupees then the cost of 2 pencils is

3 3
(a) Re. a {B) Rs. 2
4 2
(C) Rs. 3 (D) Re. 3 -
afe 59faell 1 g 33 %o &, A1 2 Uf~dell 1 T &M 0
3 3
A g T ® 5% ()
& .
(C) % ¥o (D) 24

A 1 is not a prime number @ 1 is a prime number
(C) 1 is a composite number @ (D) 2 is not a prime number.
e | & FF-w T H‘é?@

114. Which of the following statements is true ? @
%]

{B) 1 39T~ HE @

(D) 29 HEH TET & |

115. The pri tors of the number 720 are

2x3x3x2x5H (B) 2x3x4x5x6

(C) 3x3x4x4x5 (D) 2x2x2x2%x3x3x5.
& 720 F AT UGS §

(A) 2x2x3x3x2x5 (B) 2x3x4x5x6

C] 3x3x4x4x5 (D) 2x2x2x2x3x3x5.
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116. Write the following four numbers In descending order :
I. 4203567
II. 4203657
11I. 4203756
IVv. 4203675
(A) I IL I, IV

C 11 1, I

I. 4203567

II. 4203657

III. 420375

Iv. 420

I, II, III, 2 (B) mr, v, 10, 1

(D) L, 11, v, 1.

e Is equal to

(A 100 lacs (B) 1000 lacs

[C) 10 lacs (D) 100 thousands.
& FUg T &

A)  100¥ME F (B) 1000W@ %
) 109/ F (D) 100 &9 % |

WP [101] [ P.T.O.



L-1 78

118. The number 5 crores 9 lacs 4 thousands 9 hundred eighty-eight in numerals can be

written as
(A) 59004988 (B) 590400988
) 509049088 (D) 50904988.

T 5HUE 9 ARG 4 TR O I3l 6 il § fermy W Wi o # O

{A) 59004988 (B) 590400988
(€) 509049088 (D) 50 8. ¢
119. The population of a village is 78692. Out of, 29642 are men and 28167 are
women and the rernaining are children. The er of children is
{A} 20883 21883
(C) 20893 D) 20783.
TF A & FHe TGS 78 1 g/ 29642 TF9 ¥, 28167 Wffwd §am ¥ I § 1 &
ool S & ¥
{A} 20883 (B) 21883
¢
(C) (D}  20783.
120. If we ro by 60, then the dividend, divisor, quotient and remainder are

B 60,0 1,0
(@ 0. 60,0, 1 D) 60, 0, 0, 1.
YA T 60 U T W 9, WINTH, TITHA T AIFA HH: §

A} 0, 60, 0, 0 B 60,0, 1.0

& 0,60,0,1 (D) 60, 0, O, 1.
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SECTION - V
W|Ug -V
ENVIRONMENTAL STUDIES
TS0 T

There are 30 questions in all in this section.
All questions are compulsory. O
WA H FA 30WHE | ()
At v stfEr ¥ & N
121. In case of fraud or unfair business bcha\do%% lodge a complaint at

(A) Consumer Protection Forum

(B) District headquarters 2

(C) Tehsil

(D) Gram Panchayat.

31t e rgfea W T feEd S =feg
(A)  SY¥E e o

122. How ‘many members of Rajya Sabha are nominated by the President ?
) 12 (B) 18
) 20 D) 22.
Twafd g oge B fHa s 7 g ¥ 2
A 12 (B) 18

) 20 D)y 22.

L-1

[ P.T.O.
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123. District industry centre provides employment to urban and rural youths under a

scheme known as

(A)  Prime Minister's Gramin Sadak Yojana
(B] Prime Minister's Rojgar Yojana

(C) Jawahar Gram Samriddhi Yojana

(D) Swarna Jayanti Gram Swarojgar Yojana.

(B) WU TSP Fior é
(€ TR um wgfg S @

(D) Tl SE=t A TEOe e |

124. Which country has the maximum@ tube-wells in the world ?
(A) America (B) Australia

%

(C) China (D) India.
AR A sifuepan T 7
(&) TR B) sl
(© = ¢ (D) 9rE |
125. The Gan estival is celebrated on
(&) aitra Shukla Teej
(B) “Shravan Shukla Teej
(C) Bhadrapada Krishnapaksha Ashtami
(D) Chaitra Shukla Navami.
TURTR %1 @R A S §
@ = Y @ (B) AV YA A H
(C) HIZUE FWIH FALH & D) 3 Yo T F
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126. Carrier of Dengue disease is

(A Aedes mosquito (B) Culex mosquito
(C) Housefly (D) Anopheles mosquito.
<7 T T qEF § O
(A) TS = (B) ()

2
(C) =Y Hell (D) |

(C) intestine (D}  kidney.

127. The biochemical laboratory of human bo
(A) stomach @ B) liver
T % T A ﬁa&w i

*

B) =%

(D) ¥ |

128. Ai Ise Polio programme is
(A)  treatment of Polio
(B) stop paralytic effect of Polio
{C) complete eradication of Polio

(D) all of these.

T [ P.T.O.
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Tog UifAa) ey w1 v §

(A)  Tif & ITER
(B) e & 3T Shan I T
(€ e w1 gl IREE HE
(D) 398§ Bt
129. Kashmiri Gown is known as
(&) Firan (B)
(D

(C) Bugtari )

(A) River

(€ T
130. Habitat of Dog fish is 6
(C) Lake Q@

(B)

(D)

(B)
(C) Sound (D}
feifafes o foraen 3 sifieman § 2
(a4 g (B)
C @ (D)

HAFFT |

Pond

Water Current

Light.

G

Angr
.
an.
FIHR S FEAT §
(a) e 7
%)

(B)
(D)

N
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132. Which energy is converted into electrical energy by a solar cell ?
(A Chemical energy (B) Nuclear energy
(C) Solar energy (D) Magnetic energy.
AR ¥t g fFa T = o ot § s5en W AE@ § 2
(&) TEEfTER S B) i m()a
*
(C) W FHel (D) |

133. Maximum amount of gas found in air is

(A} oxygen @ carbon dioxide
(C)  hydrogen %@ (D)  nitrogen.
T § waifys 7§ e ?

() ST (B) e SEIHES
(D)  FTEgeM |
134.

(B) Petroleum

{C) Plants (D)  Uranium.
Fll @ AT H @

(&) R (B) UgierEn
© {9 (D) FFEm

(ATETRERATI [ P.T.O.
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135.

136.

137.

84
Ozone layer is found in
A) Thermosphere (B) Stratosphere
(C) Troposphere (D) Mesosphere.

3 9 foerdt &

(A  HteRRR o (B) EIERH ()O
(C) R § (D) W N
Nuclear family refers to

()  any family born after 1950

(B) family includes parents and thei

(C) entire family including chi eir parents and grandparents
(D) only husband and

T 9REar 4 aead #

(A} @¥ 1950%

(B)
© | 9=, 3T Ha-Tom T 2er-3ret

(D)

Tob o addiction is due to
{A) Cocaine (B) Caffeine
(C) Nicotine (D) Histamine.

T ®I oTeT fh9 4 O ¥ 2
A HEFH B) FwHA
) Taifea (D) fe=d= |
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139.

140.
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What are the minimum ages for marriage of boys and girls in India ?

(A) 21 years and 18 years

(B) 18 years and 21 years

(C) 18 years and 18 years

(D) 18 years and 16 years. O

YRd H TeH 9 TISfwdl o faamw arg =aq oy F1 § ? ()
A ¢

(A) 21999 1894

B) 18999 2194 @
© 18987 189 @
(D) 1898 ¥ 1694 | Q

Main occupation of people of Rdjas

(A)  mining (B)  bakery

{(C) poultry farn’m%t (D}  agriculture.
T g

TTEH & AN

(B) &&
(D) Ff |

of the following places of Rajasthan does not have sugar factory ?

(C)

(&) Keshoraipatan (B)  Nimbahera
{C) Udaipur (D)  Bhoopal Sagar.
e B A @ R R W wes S % SR 98 R ?
(A)  FYETEUET B) fr=mee

Q) 3R (D) YUt ¥R |

(LT [ PT.O.
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141. City of Lakes in Rajasthan is

(A) Jaipur (B) Jodhpur
(C) Udaipur (D)  Ajmer.
o § e @ TR

@ AR (B) WHUR ()O
() 3SJ{Y (D) ¢

142. Who built the Vijay Stambha ( Tower of Victo
(A) Maharana Kumbha ) aharana Sanga
(C}) Maharana Pratap ) Maharaja Jaisingh.
oo @ fem aamn ?
(A) BRI FIW (B)  HEROT Hi

(C) HERyom (D) WEWET S9iEE |

143. Following ign indicates :

(A) Major road (B}  Pedestrian crossing

Q) Railway crossing (D) Narrow bridge.



.
A) Y=AESH (B) @

() Y=d wfET ' (

144. Full form of ATM is @Q
(A) Automated Teller Machin@
(B) All Time Money 2@

{C) Automated Tran

) SR Yem T
(B) e <rgd Tl
(€) fImes TeHL wyiA

(D) 3iffse ToR TeiA |
HEHHTHT [ P.T.O.
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145. Message sent by computer is known as

(A) SMS (B) FAX

(©) E-mail (D)  Telegram.
W%mm@ﬁﬁaﬁaﬁﬁ%‘ﬂﬁm% 0
(A)  TETT B %= & .

© i3 (D) @

146. Full form of CNG is

(A) Common National Gas @E
(B) Compressed Natu@g

(C) Common Nat a
2
(D) Certi afural Gas.
w9 2
@) HET AT T
(B) HERE A W
(C) AT g T
(D) wféwss F9g@ |
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147. Wildlife Week is celebrated on
(A) 1st October to 7th October
(B) 15th October to 21st October
(C) lst June to 7th June
(D) 15th June to 21st June,

T4 9 WHE ora] o §

@A) 1 FART Y 7 HFRT TH

%3

C} 15" 7 T®

(D) 15<AH 215A T |

148. State tree, state bird and

., Peacock, Tiger.

T & TF &1, TF T&f a1 T=9 9 o &
() G, TierEw,

(B) €S, WK, 9=

(€) 9@, TEEy, IR

(D) ™, 9], 99 |

L-1

[ P.T.O.
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149. In which state of matter, the distance between the molecules is minimum ?

(A}  Solid (B) Liquid
(C) Gas (D) Plasma.
eref ot fFg araen W Sropeii & W it g0 AR €At € 2 O

@ 3w B 3
& .
© ‘™ (D) @
150. Which state is known as ‘Tiger State’ ? @
(A} Rajasthan @2
(B) West Bengal 6
(€1 Gujarat @

(D) Madhya Pra sh‘

-4 'FAH AT SAGE ?

(B) Uiy=w Smd
(C) oI
(D) W4 WU !
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INSTRUCTIONS / ﬁl‘gr
( Read carefully and comply / & ¥ 43 3 qi&+ &1 )
IMPORTANT / R&&qut

1. In Section Il [Language 1) a candidate has to attempt the questions of the language which the candidate has selected as
Language | in the Online Application Form.

T[US 11 (197 1) B I wr F W B oeed 6 Aad ¥ T o = 9a9 anadt 3 an [ % v H s sEee-aa | R

2. ln Section [[l (Language I} a candidate has to attempt the questions of the language which the candidate has selected as
z;lgc I in the Online Application Form, The Language Il will be dilferent [rom Language I.
wsm oI % T AT AR ¥ o AT 1 wEs At W i1 w9 W S o 5 e ) v ¢ w0 3 ot
3. The candidate must ensure that the Question Booklet No. has been filled correctly at the prescribed places in the Answer Sheet,
OMR ¥z § T WY WY A FHE TE) W &
1. Read complete instructions carefully and fill the details from 81. No. 1 to 6 in the OMR Answer Sheet a to 4 in the

Question Booklet. If you fail to fill the details and sign as instructed correctly, you will be perso nsible for the

consequences arising during scanning of your Answer Sheet.

et =t oot v @ q%aa‘rzmlﬂﬁﬁounﬁz@mlﬁqﬁmgﬁam( ;9 e AE
faarm AT EEAET ¥ 4t oMR ¥ie & ST F weegey g1 T wRhomml F v e =y

2. OMR Sheet No. should be written in the space provided in the Question Booklet.
OMR ¥t &M T qfra | 3t ot it mm w A =i |

3. The Question Booklet comprises 96 pages having 150 questions. After being instructed ‘ det, only then the candidates

will open the Question Booklet seals, Check whether the Booklet contains 150 questio
w1 % 96 TS Us 150 W ¥} et FEw R 9 & 3w @ we
150 ¥¥9 & =i foF g3 ¥ 3 & ey @ g0 O ¥

4. All questions are of MCQ (Multiple Choice Questions) type. There is o

mark There will be w:;;'a_r n;g;l;h;aﬁ;s;él{.n;ﬂ fg% ang %n%%eg —

swer to each question carrying one

TE | TEd WA ¥ Y e S

it ﬁ'&
5. All questlons other than language questions of Sections II and al.
T U9 ¥ e wAfa ove 0 e m ¥ W ¥ At e i W
6. In any event of any mistake in any question/s, candidateg alized. However no corrections will be made in
uestion/ s during the examination, )
T j% Fi el R 1 g Tl Y vty § WA A R R 1 SeneE @ s SR
7 Rough work, if any, may be done in the Question Boo| e space provided at the end of the Booklet. Do not tear it off

Tt o & 1% w0 A W gRaw & o A
G I |

8, Use of Log tables, Calculator, Slide rule, Mobil
allowcd Their use wiil result in dlsquahﬁc .

T, Digital diary or any other electrenic item/instrument etc. is not

71 fredt o7 w1 RIS 3Ty /SR W vAT ofem k) e

OMR ¥z, ¥¥ feae % |
10. The Question Booklet will be is the .
and OMR Answer Sheet, The Q Booklet seals shall be opened at 11:00 A.M. After opening the Question Bocklet, ensure
that any page/ question is not missing / not printed / torn / repeated. In case, you find any defect anywhere in the Question
Booklet, immediately informgthe Invigilator and get it replaced within 10 minutes by the Invigilator. Warning Bell will ring at

12:25P.M.andthelast!ongll ill ring at 12:30 P.M.
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11. Write your e Code, Roll No.,, OMR Answer Sheet No., Question Booklet No., Name and put your Signature in the
space prg Question Booklet as well as in the OMR Answer Sheet. . ) .
w T i W 97 TR F F S, T AR, OMR Wie FHiF, W qies w9, A1 ford 3 a1 s we

] ion you will find 4 possible answers marked by the letters A, B, C & D, Read each question carefully and find
answer, according to you is correct. Indieate your answer by darkening the appropriate circle completely in the OMR
Answer Shéet corresponding to the question, For marking answers use blue/black balipoint pen only. Gel pens / pencils are not
allowed.
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12. Wit]

Correct method : CORRECT / w#t Wrong method : WRONG / TETdl WRONG [ TTevey WRONG / TTerd WRORG / TT#rt
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13. OMR Answer Sheet is designed for computer evaluation. If you do not follow the instructions given above and shown in the

OMR Answer Sheet, it may make evaluation by computer difficult. Any resultant loss to the candidate on the above account

shall be of the candidate only.
OMR File = FgRY q@m*%{ﬁmw%luﬁmsﬂ?ﬁﬁounvﬂzﬁﬁﬁnﬂﬁﬁﬁmwwﬁmﬂa’!am{a:m
mqwﬁw#ﬁﬁmnwwﬁqﬁmﬁﬁaﬁaﬁmﬁ framdt 3=t @ = g
14, No candidate should leave the Examination Hall before the final bell. The Question Booklet as well as the OMR Answer Sheet
should be handed over together to the [nvigilator before leaving the Examlnauon Hall,
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